ATOMIC ENERGY CENTRAL SCHOOL No. 4, RAWATBHATA
Online Descriptive Test (2020-21)

Maximum Marks: 40 CLASS-XII TIME- 1.5 HOURS
SUBJECT-ENGLISH

General Instructions:

a. This paper is divided into three sections : A, B, C. All the sections are compulsory.

b. Separate instructions are given in each section and question, wherever necessary.
Read these instructions very carefully and follow them faithfully.

c. Do not exceed the prescribed word limit while answering the questions.

Section — A . Reading
Q.1. Read the passage given below and answer the questions that follow. (09)

The facts about Child Care Policy have also shifted dramatically over the past 25 years. The nation
now has a family leave law, albeit one that is woefully inadequate by international standards.
Expansions of Head Start and the establishment of Early Head Start, alongside the growth of state
pre-kindergarten programme are promising developments. Federal and state expenditures on — and
funding streams for — child care have also grown substantially, but with minimal restrictions on where
dollars are spent. The Federal Government started this trend in 1990 with the passage of the Child
Care and Development Block Grant. That programme prioritised access and a market-based (voucher)
approach to child care for low-income families, with minimal attention to quality protections or
improvements.

Yet the triad of pressing policy issues that we raised in 1990 — quality, affordability and caregiver
working conditions — remains in urgent need of attention today. While there has been growing
attention to the quality of early-childhood settings in the form of state Early Learning Standards and
Quality and Improvement Rating Systems, there is still no assurance that any child in any early care
and education setting in the United States will experience safe, developmentally supportive care and
education. Wide variation in child care quality remains the norm both across and within different
types of settings in different states. Tensions between access and quality are still severe.

Parent fees for child care have doubled since 1997; the share of family income subsumed by child
care costs still shows a gaping disparity between non-poor (7.6%) and poor (30.1%) families. Child
care workers and teachers continue to earn wages that hover near the poverty line and fall well below
those of elementary school teachers, even among comparably degreed teachers. Not surprisingly, child
care staff face exceedingly high levels of economic distress and rely heavily on public health, food
and income supports.

President Obama has made preschool education and child care quality national policy priorities for
first time in more than four decades. The historical separation between child care (for working
parents) and early education (for children’s development) is gradually eroding, as belied not only by
growing reliance on “early care and education” as the term of art for this domain of research and
policy, but also by recent policy developments that simultaneously address access and quality and
encourage coordination across child care and early-education funding streams.



(A) On the basis of your reading of the above passage, answer the following questions by choosing the
correct option.
(1x2)

(1) Growth in expenditure in Child care in the USA started in the year ............. .
(a) 1980
(b) 1990
(c) 1997
(d) Not given in the passage
(i) Promising developments in the USA in the field of child care includes .......... )
(@) expansion of Head Start programme
(b) establishment of early Head Start programme
(c) growth of state kindergarten programme
(d) all of the above

(B) Answer the following questions briefly. (1x5)
i. What have been made national policy priorities after more than 40 years?

ii. What did the Child Care and Development Block Grant Programme do?

iii. Why is there no guarantee that children in early care and education will get a safe and
development

oriented care ?

iv. What is the difference in child care costs between rich and poor families?

v. What are the promising developments?

C. i. Theword .......... is an antonym of ‘reducing’ (Paragraph -2) 1
ii.. Theword ......... is a synonym of ‘together’. (Paragraph —4) 1
SECTION -B 19

Literature : Text Books
2. Read the extract given below and answer the questions that follow : 1x4=4
Fishermen in the cold sea

would not harm whales

and the man gathering salt

would look at his hurt hands.
i.What should the fishermen not do?
ii.What does the poet expect of the fishermen and why?
iii. What will the man gathering salt do?
iv.What do the ‘hurt hands’ imply?

3. Answer any five of the following questions in 30 -40 words each : 3x5=15
(a) What was the chief concern of Sadao’s father?

(b) Who was Dr. Sadao Hoki and where did he live?
(c) How did Hana help Dr. Sadao while he operated upon the enemy soldier ?

(d) What makes Jack feel caught in an ugly middle position ?



(e) Why did Jo want the wizard to hit the mother?

(f) How does Jo want the story of Roger Skunk to end?
4. Answer the following question in 120 — 150 words. 6
Good human values are far above any other value system. How did DR. Sadao succeed as a doctor as well as a
patriot ?
OR

What was the General’s plan to get rid of the American prisoner? Was it executed ? What traits of the General’s
character are highlighted in the lesson ‘The Enemy’?

5. Answer the following question in 120 — 150 words. 6
An adult’s perspective on life is different from that of a child? Justify this statement with reference to
the lesson, ‘Should Wizard Hit Mummy’ ?

OR

‘Story telling is more an art than a science’. Discuss this statement with reference to the chapter, ‘Should
Wizard Hit Mummy’ ?

All The Best
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A parallel plate capacitor of capacitance C is connected to a battery and is charged to a
potential difference V. Another capacitor of capacitance 2C is similarly charged to a potential
difference 2V. The charging battery is then disconnected and the capacitors are connected in
parallel to each other in such a way that the positive terminal of one is connected to the
negative terminal of the other. The final energy of the configuration is -

2 BOV? b CV?
c) %CV2 d) zero
Two spherical conductors each of capacity C are charged to potential V and -V. These are then

connected by means of a fine wire. The loss of energy is:

a) Zero b) 2cv2
0 1CV? d CV?
On which factors does the capacitance of a capacitor depend?
The figure shows the field lines of a positive charge. Is the work done by the field in moving a

small positive charge from Q to P positive or negative?
.Q

Fill in the blanks:
On moving a charge of 20C by 2 cm, 2 ] of work is done, then, the potential difference
between the points is
You are given n resistors, each of resistance R. These are combined first to get the minimum
possible resistance, then these are combined to get the maximum possible resistance. The

ratio between minimum to maximum resistance is
an b) 1/n
¢) 1/n2 d) p2

According to Ohm's law,

a) The electric current I flowing b) The electric current I flowing
through a substance is proportional through a substance is proportional
to the voltage V across its ends to the square of voltage V across its

ends

Maximum Marks: 35
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c) The electric current I flowing d) The electric current I flowing

through a substance is inversely through a substance is independent
proportional to the voltage V across of the voltage V across its ends
its ends

A 10 V battery of negligible internal resistance is connected across a 200 V battery and a

resistance of 382 as shown in the figure. Find the value of the current in circuit.

10V
{i

380 00 Y
Suppose balance point is not obtained on the potentiometer wire. Give one possible cause for

this.

OR
Two similar head lamps are connected in parallel to each other. Together, they consume 48 W
from a 6 V battery, the resistance of each filament is:

a) 4Q) b) 62
c) 312 d) 1.5Q
Fill in the blanks:

is a sensitive device to detect current in a circuit.
Two point charges q1 and g are located at rq and ry, respectively in an external electric field
E. Obtain the expression for the total work done in assembling this configuration.
i. Can two equipotential surfaces intersect each other? Give reasons.
ii. Two charges -q and +q are located at points A (0, 0, -a) and B(0, 0, +a) respectively. How
much work is done in moving a test charge from point P(7, 0, 0) to Q(-3, 0, 0)?

OR
Four capacitors of values 6 pF, 6 uF, 6 uF and 2 puF are connected to a 6 V battery as shown in the
figure.
6 pF 6 uF
1 6 pF
2 uF
+',||||r¢
6V

Determine the
1. equivalent capacitance of the network.
ii. charge on each capacitor.
The resistance of the platinum wire of a platinum resistance thermometer at the ice point is 5
() and at the steam point is 5.23 {2. When the thermometer is inserted in a hot bath, the
resistance of the platinum wire is 5.795 (). Calculate the temperature of the bath.
State the underlying principle of a potentiometer. Why is it necessary to
a. have uniform area of cross-section of the wire and
b. use a driving cell whose emf is taken to be greater than the emfs of the primary cells?

A parallel plate capacitor is charged by a battery. After sometime, the battery is disconnected
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19.

and a dielectric slab with its thickness equal to the plate separation is inserted between the
plates. How will

i. the capacitances of the capacitor,
ii. potential difference between the plates and
iii. the energy stored in the capacitors be affected?

Justify your answer in each case.
Two heating elements of resistances R1 and R, when operated at a constant supply of voltage  [3]
V, consume powers P1 and Py, respectively. Deduce the expressions for the power of their
combination when they are in turn, connected in

1. series and

ii. parallel across their same voltage supply.

i. Write the principle of working of a metre bridge. [3]

ii. In a metre bridge, the balance point is found at a distance 1; with resistance R and S as

shown in the figure.
5

G |

Af—11 «‘a
{—

An unknown resistance X is now connected in parallel to the resistance S and the balance

point is found at a distance 1. Obtain a formula for X in terms of 14, 15 and S.

Define relaxation time of the free electrons drifting in a conductor. How it is related to the 3]
drift velocity of free electrons? Use this relation to deduce the expression for the electrical
resistivity of the material.

OR
Use Kirchhoff's rules to determine the potential difference between the points A and D. When no

current flows in the arm BE of the electric network shown in the figure below:
g

F i)
i
By
H
20
v
hilllneidll]
(44 4y

i. Obtain the expression for the potential due to an electric dipole of dipole moment P at a point r [5]

on the axial line.

ii. Two identical capacitors of plate dimensions 1 X b and plate separation d have dielectric slabs
filled in between the space of the plates as shown in the figure. Find out the relation

3/4



1. Derive the expression for the energy stored in parallel plate capacitor. Hence, obtain the
expression for the energy density of the electric field.
ii.

between K, K; and Ky.

\

o

— Q.—Hl\

e

o

— Q—b\h;\

— /2 ——— /2 ——

OR

A fully charged parallel plate capacitor is connected across an uncharged identical capacitor.

Show that the energy stored in the combination is less than the energy stored initially in the

single capacitor.
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Section A

Maximum Marks: 35

The units for the rate constant for the second order reaction (concentration: mol litre! time: s) [1]

are:
a) g1 b) mol litre-1s1
¢) mol litre-2s1 d) mollitre s1

Half life period of any first order reaction is:

a) half of the rate constant b) same for all reactions
c) directly proportional to the initial d) independent of initial concentration
concentration of the reactant of reactions

When 10 g of radioactive isotope is reduced to 1.25 g in 12 years, the half life period of the

isotope is
a) 4 years b) 24 years
c) 16 years d) 8 years

Micelles are:

a) Ideal solution b) Associated colloids

¢) Adsorbed solution d) Emulsion cum gel

Which type of property is the Brownian movement of the colloidal solution?

a) Electrochemical b) Optical
¢) Mechanical d) Electrical
Section B

Identify the order of reaction from the following rate constant:

k=23x10°Lmol ' s

If half life period of a first order reaction is X and %th life period of the same reaction is Y,
how are x and y related each other?

How will you prove that a chemical reaction is of first order?

Give two examples of substances which form:

a. Lyphobic sol.

b. Lyophilic sol.

For adsorption of gases on solid surfaces, write Freundlich adsorption isotherm equation.

Consider the reactionA — P. The change in concentration of A with time is shown in the plot.
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19.

L%
>

Concentration [A] —»

Time, (] ——> i

1. Predict the order of the reaction.
ii. Derive the expression for the time required for the completion of the reaction.

A first order reaction takes 40 min for 30% decomposition. Calculate tq).

Give reason: Why finely divided substance is more effective as an adsorbent?
'Adsorption is an exothermic process'. Explain.
Show that in case of first order reaction, the time required for 99.9% of the reaction to
complete is 10 times that required for half of the reaction to take place. [ log 2 = 0.301]
What is meant by order and molecularity of a reaction? Distinguish between order and
molecularity.
Write the differences between physisorption and chemisorption with respect to the following
aspects:

1. Specificity.
ii. Temperature dependence.
iii. Reversibility.
iv. Enthalpy change.

Explain what is observed:

i. When a beam of light is passed through a colloidal sol
ii. An electrolyte, NaCl is added to hydrated ferric oxide sol
iii. Electric current is passed through a colloidal sol

a. At 380° C the half life for the first order decomposition of H2 O3 is 360 min. The energy of
activation is 200 kJ mol L. Calculate the time required for 75% decomposition at 450°C.

b. Consider the following data for the reaction.
A + B —products

Conc. of A (mol L™ 1) Conc. of B (mol L™ 1) Initial rate (mol L~ 15— 1)
0.1 0.1 4.0 x 1074
0.2 0.2 1.6 x 1073
0.5 0.1 1.0 x 1072
0.5 0.5 1.0 x 1072
Calculate:

1. Order w.r.t A and B for the reaction
ii. Rate constant

iii. The reaction rate when conc. of Ais 0.2 M and B is 0.35 M

[2]

[2]
[2]
[3]

[3]

[3]

[3]
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OR

For a certain chemical reaction variation in the concentration in [R] Vs time (S) plot is given below:

4

In[R]

'

— t(s)
For this reaction write / draw:
i. What is the order of the reactions?
ii. What are the units of rate constant k?
iii. Give the relationship between K and ¢ /o (half life period)

iv. What does the slope of above line indicate?

R
v. Draw the plot log % Vs time (S)
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General Instructions:
Note:
1. All Questions are compulsory.
2. Before uplaoding scanned copy, Write your name, class, section and roll number on the top of
first page.
3. Uplaod the solution file within due time. Please note that late submiisions will may not be

considered for evaluation purpose.

Section A
1.  Let S be the set of all real numbers and let R be a relation on S, defined by a Rb << (1 + ab) > 0. [1]
Then, R is
a) None of these b) Reflexive and transitive but not
symmetric
¢) Symmetric and transitive but not d) reflexive and symmetric but not
reflexive transitive
2.  Let R be the relation in the set N given by R={(a,b):a=b-2,b > 6}. [1]
a) (6,8 €R b)(8,7) €R
c) (2,4 R d) 3,8 €R
3. Therelation Rin N X Nsuchthat(a,b)R(c,d)< a+d=Db+cis [1]
a) reflexive and transitive but not b) an equivalence relation
symmetric
¢) reflexive but symmetric d) none of these
4.  Let * be a binary operation on R defined by a * b = ab + 1. Then, * is [1]
a) both commutative and associative b) associative but not commutative
¢) neither commutative nor associative d) commutative but not associative
5. The value of sin (cos™! %) is [1]
2 -2
a) 5 b) ?
c) % d) None of these
6. The value of sin (isi -1 @) is: [1]
1 1
a) 7 b) 33
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_1 1
c) W d) 3
The principal value of cos™ (_71) is
47 27
s — T
C) g d) T
z—4
E= +a, <4
Let f(z) = a+b,  x =4 Then, f(x)iscontinuous at x = 4 when
r—4
P +b, x>4
a)a=-1,b=1 b)a=1,b=1
c)a=0,b=0 da=1,b=-1
1—cosx
. z#0
If f(z) = “11” ’ sthen at x = 0, f(x) is
= ,c=20
2
a) differentiable but not continuous b) continuous and differentiable
¢) continuous but not differentiable d) neither continuous nor
differentiable

Which of the following is not an equivalence relation on Z?

a)aRb < a-bisaneveninteger b) aRb < a+Dbisan even integer
cJaRb<a<b d)aRb<a=b
OR

Given an arbitrary equivalence relation R in an arbitrary set X, R divides X into

a) intersecting sets b) two sets
¢) mutually disjoint subsets d) three sets
Section B

Let Rp be the set of all nonzero real numbers. Then, show that the function

f:Ro— Ro: f(z) = % is one-one and onto.
OR
Let A = [-1, 1]. Then, discuss whether the function defined on A by: g(x) = | x|
is one-one, onto or bijective.
Evaluate: tan{cos_1 (— %) }
Evaluate: cot ! (cot %Tﬂ)
Section C

Show that the relation R defined in the set A of all polygons as R = {(P1, Py) : P1 and Py have

same number of sides}, is an equivalence relation. What is the set of all elements in A related

to the right angle triangle T with sides 3, 4, and 5?
\/H_a:\/n> _r 1.1 -1

. -1 (ViTT—vi—Z ~_ 1 —_
Prove that: tan <\/1+_$+m 1 5COs T, 75 S

r<1

[1]

[1]

[1]

[1]

[2]

[2]
[2]

[4]

[4]
[4]
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16.

17.

18.

sin z

=, Tcosz, z>0

Show that the function f(x) defined by f(x) = ¢ 2, z = 0 is continuous at x = 0.
4(1-/1—z
0T,
OR

Discuss the continuity of the following functions:
a)sinx b)tanx c¢)secx d)cosecx
Section D
LetA=R-{3},B=R-{1].If f : A — Bbe defined by f(x) = % Va € A.Then, show that f [6]

is bijective.

2 2 .
Ifcos 'Z + cos 1% = a.Prove that = + £ — 2% cosa = sina [6]
a b a2 B ab
OR
! T4 leosle T liogle)y = 2
Prove that: tan(4 + 5 COS b) —I—tan(4 5 COS b) ==

3/3
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Time Allowed: 1 hour and 30 minutes Maximum Marks: 35

Section A
1.  Pedigree analysis is a study of particular traits in:

a) Two species b) Two families

c) Several generations d) Two-generation only

2. Failure of cytokinesis after telophase stage of cell division results in the:

a) An increase in whole set of b) The decrease in the whole set of
chromosome in organism. chromosomes in the organism.

¢) No change in the chromosome d) Increase or decrease depends upon
number. the type of cell division.

3. Two genes Rand Y are located very close on the chromosomal linkage map of the maize
plants. When RRYY and rryy genotypes are hybridized, the F2 segregation will show:

a) Segregation in 3:1 ratio b) A higher number of parental types

c) A higher number of the recombinant d) Segregation in the expected 9:3:3:1

types ratio

4. Which of the following is a recessive trait of the garden pea plant?
a) Inflated form of ripe pods b) Terminal flower position

c) Purple flower colour d) Green pod colour

5.  Which organism’s male contains a pair of Z chromosome as sex chromosome besides

autosomes?
a) Birds b) Insects
c) Lizards d) Human beings

6. XO type of sex determination is found in:

a) Elephant b) Human beings
c) Dog d) Grasshopper
Section B
7.  Write the sex chromosomal complement of the following:
Animal Sex Chromosomes

i Drosophila ¢ a
ii Grasshopper < b
iii Fowl ¢ C

[1]

[1]

[1]

[1]

[1]

[1]

[2]
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| iv | Homo Sapiens ¢ d

How is sex determined in human beings?
Name the type of inheritance in which the phenotypic and genotypic ratio are same. Also give
the ratio.
What is a mutagen? Give one example.
A man of A blood group marries a woman of AB blood group. Which type of progeny would
indicate that man is heterozygous A?

Section C
Differentiate between multiple allelism and pleiotropy with the help of an example each.
How does a chromosomal disorder differ from a mendelian disorder?
List any four symptoms of Down's syndrome. What is the basis of this disorder?

Section D

a. How would you find out whether a given tall garden pea plant is homozygous or
heterozygous? Substantiate your answer with the help of Punnett squares.

b. Given below are the Fy -phenotypic ratios of two independently carried monohybrid
crosses shows which type of dominance pattern:
1.1:2:1
ii. 3:1

List the differences between Turner's syndrome and Klenifelter's syndrome

[2]
[2]

[2]
[2]

[3]
[3]
[3]

[5]

[5]
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Maximum Marks: 40

Section A

fererds 98 — ‘Sfdar W IS 8 ? [1]
a) fafear & sem b) %l & FEH
) TR & IEM d) FTai & F'8H

HfIdT St FT@l & GHATT FT JHT TIT 82 [1]
a) ST ot HiRa=TT S<dl &1 @ & b) F=9 sfdar for@a
¢) S0 3R afdar &l =Ty fAfder ik d) ST WIS &Rt AT ST &

s gia g1

IR ARTAUT & AR h{dT T ST T 8?2 [1]
a) g4 # I 1Y b) T4 R B I AT
¢) 2rsg Af<h T TN d) &1 91 1 gl AUsE  F&AT

I ER Ueh &3 &' ohT T 31 g2 [1]
a) aqYa HrhT b) F29 3= 3R WA A e T8t
C) AT AR g e 8 d) 9RT 9R g1 U gRar 8

Hfar ‘& & J8M' & Fax AR HY foh wigar Gug @ of wh 82 [1]
a) hig g el b) 5 fet
¢) fddraef! d) gRETR

gHdR 9T = foh uf3ent o1 GuTes foRam o1? [1]
a) WA b) sgaT
c) gy d) eHaER

"3g &1 @Mt & 319 &Y gianl” Iuddh wy fohaar 82 [1]
a) d@H b) A AUSH!
¢) Stsft d) T aret et

STl BET U ' ST A Ages = fergant feraor fomam @2

a) fagrg ik fasm & g b) & vaferd fasgra

¢) fayra & g d) fagm & aeh
R YR B arfeca & 19-8 gwdass & &g 8?2

a) gUxT ¥tdsh b) dten gwds

¢) dERT W d) IR TR

[1]

[1]
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IR Y fopg Tomm W B fthedt 1 gl 82 [1]

a) TATS! oAl dadr b) &sT agr
C) GIST T FTdat G S| d) &1 YT a A8 a1 daar a1
Section B
ST & TE HidT & ehid el T SMRfehT & 3R N [3]
39 HfIaT & 8 I foF T TR TP R o & A1 a1 872 [3]
Y 3MTST =T o folU i o § Y & gIRT ddeh YHdR R} SRrarfaal ot forg o1d &t arg i @1 8?39 [2]
ST Al §H U1 AT TgT X UT 38 872
YHAR YRt Aeh Al TR Ui ST &l g AT °4? [2]
Aeh-Agd! 9 d@h hI T ATy 82 g8 91 IR UT-1 STel ot &t &g JATar UT1? [2]
et AT urt & T JTHR0T 82 [2]
OR
FTet AT U & Ut # g i ol AT & R oSt 89 2% & iy i gt ehva?
Section C
arft 3, ey At @ urht & gry-ary ey H At =t H 57 @ &2 [4]
OR

et & gARY araT-21f<6 @ e ST fagrat & Ser & 9 i g Giordt gART g Y Afh Y HESR w8
Tt AET U1 € U A Sireit & ufd daes &l 91a-1 & def 7 39 o+ & siifac dit gten Hifsgl

ReaR A werit & smyfaes wifkaries gt & fawes o1 guref R g1 SeEwvdd guea sy ot fades . [4]
Erdl

MR I TR-IR fherar sl &t a1e d 82 38 T Il i AT 8 a1 hASNRI? [4]
IR Y AT U= Fod1 & TTY HaT AagR UT? f¥eax afEn & sneyR o qarsyl [4]
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1.

Maximum Marks: 35

Section A
Which of the following is NOT part of balanced diet?

a) Vitamins
c) Proteins
Maximum Carbohydrates are obtained from
a) Fish
c) Plant oil

Body needs vitamins and minerals because

a) They give the body energy

¢) They insulate the bodys organs
A balanced diet is complete, when it will be
a) According to the needs of the person

¢) Complex Carbohydrates

According to Yog sutra, Asana mean

a) Sukhan asanam sthira

¢) Asanan sukh Shira

b) Carbohydrates

d) Probiotics

b) Whole grain food

d) Nuts

b) They help carry out metabolic
reactions

d) They with draw heat from the body

b) 4 to 5 liter watet

d) Animal fat rich

b) Sitting pose

d) Sthira Sukham Asanam

Obesity can be reduced by the regular practice of certain asanas. Among the most beneficial

asana is:
a) Vajrasana
¢) Shavasana
Choose the odd one. Asana helps to improve :
a) Blood circulation
¢) Digestive system
Expended form of ODD is
a) Opposite different disorder

c) Oppositional defiant disorder

The symptoms of

b) Pawanmuktasana

d) Bhujangasana

b) Depth of respiration
d) Speed

b) Obessive defect disability

d) Opposite different disability

are people doing repetitive behaviours, performing routine tasks

over and again or having certain thoughts repeatedly.

a) ODD

b) ASD

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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16.
17.

¢) ADHD d) OCD
Any kind of impairment or permanent reduction in the physical or mental capacity is called

a) Disease b) Disorder
¢) Discomfort d) Disability
Section B

Explain how can you control and maintain Body Weight.
Differentiate between Food Tolerance and Food Allergy.

What is Obesity?Write the benefits of Asanas in preventing Obesity.
What are the symptoms of ADHD in children?

What are the strategies to make physical activities accessible for children with special needs.

Section C
"Asanas act as a Preventive measures".explain
Write the types and Causes of Disability.

[1]

[3]
[3]
[3]
[3]
[3]

[5]
[5]
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1.

Class 12 - Mathematics

Online Descriptive Type Test-1 (2020-21)

Solution

Section A

(d) reflexive and symmetric but not transitive
Explanation: Let S denote the set of all real numbers. Let R be a relation in S defined asa Rb iff 1 + ab > 0.

i. Ris reflexive, Let a be any real number.
Then 1 +aa=1+a2> 0, since a2 > 0.

Thus aR awa € S. Therefore Ris reflexive.
ii. R is symmetric. Let a, b be any two real numbers.
ThenaRb=1+ab>0=-1+ba>0[. ab=ba]

.. Ris symmetric.

iii. R is not transitive. Consider three real number 1, -— 1

We have

1+1(—3)=3>0

S 1R— 2

Further 1+ (—3) (—4) =3>0
-.—3R—4

But 1 + 1(-4) = -3 Which is not greater than 0. Therefore 1 is not R-related to -4.

2

Thus1 R — %, — %R — 4 and 1 is not R-related to -4.

.*. Ris not transitive.

@ (6,8 €R
Explanation: (6, 8) € R
asb-2=8-2=6andb>6.

(b) an equivalence relation
Explanation: Check: (a, b)R (a, b) as
atb=b+a

hence R is reflexive.

Now,let

(a,b) R (c, d) ,then,

a+td=b+c

=c+b=d+a

= (c,d)R(a, b)

=> R is symmetric

Now,

(a, b) R (c, d) and (c,d)R(e,f)Then,
a+td=b+cand

c+f=d+e

Adding,we get,
atd+c+f=b+c+d+e
=a+f=b+e

So(a,b)R (e, )

R is transitive.

Hence R is an equivalence relation.

(d) commutative but not associative
Explanation:a*b=ab+1
b*a=ba+1

=a*b=b*a

So * is Commutative

, 4.
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Now

(@a*b)*c

=(@ab+1)*c
=abc+c+1

a*b*c)

=a*(bc+1)
=abc+a+1
=(@*b)*c#a*b*c)

© 3

Explanation: Let x = sin cos™!

ot

3
= COST = 5

Now, sinx=14/1 — cos
2
=y1- )
-4
5

1

2z

1

= x=-sin" = cos~

SIS
ot|w

Therefore

sin (cos™ 2) = sin (sin” 2)
Let,y = sin (sin %)
= sin'ly =sin! %
=y=1

© =

2v2

Explanation: sin ( 5sin™ " =

1@)

Consider,

. 1 . —
SlIl<4SIIl

= sin(%m)

1—cos <
_ 2 .ol _ 1—cos2zx
= \/ 7 ( CSsSIxT = —2 )

1+4cos2z )

LS COST = 2

4
2

- i

27
) &

Explanation: Let the principle value be given by x
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10.

Now, let x = cos™! (%)

= cosz = —

=> COS X = -COS (%) (. cos(Z) = %)

= cosx =cos (1 — L) (. — cos(8) = cos(m — )
2T

:>X=?

da=1,b=-1

Explanation: lim f(z)=a+b
r—4-

lim 22 +a=a-+bd

r—4 | —4|

-1+a=a+b

-1=Db

Also,

lim f(x)+b=a+b

z—4"

. x—4 o
llg}i a TO=atb

1+b=a+b
a=1

(b) continuous and differentiable

l1—cosz 7& 0
s s _ rsinz z
Explanation: Given that f(z) =

%,w =0
Checking continuity and differentiability at x = 0,
LHL: lim 1f?os:v S E 1f?osw > z _ lim 1fc;)s:c .;v —
20" rrsmax 20" rsmax T 0" x s x
LHL: = f(x=0)
Hence, f is continuous at x = 0.
LHD at x =0,
. f(z)—£(0) .. f(0—h)-f(0)
lim ———— — lim ——————~=
20~ =70 h—0 0-h—0
1—cos(—h) 1
— iy CPs=h *(E> —0
h—0 —h
RHD atx =0,
. fl@)—f0) .. f(0+h)—f(0)
e el L S Ay
1—cos(h) 7(i)
— ]_im (k) sin(h) 2 — 0
h—0 h

.- LHD = RHD = f(0)
. f(x) is differentiable at x = 0

(@) aRb & a-bisaneveninteger

Explanation: a Rb < a-Db s a even integer

Given R ={(a, b) : a—b is an even integer(i.e divisible by 2)}
For equivance relation we have to check three parameters:
(1) Reflexive:

If (a-b) is divisible by 2 then,

= (a-a)=0 is also divisible by 2

= (a,a) €R

Hence R is Reflexive ¥V (a,b) € Z

(ii)Symmetric:

If (a-b) is divisible by 2 then,

= (b-a) =-(a - b) is also divisible by 2

Thus,(a,b) € R=(b,a) €R

Hence R is Symmetric V (a, b) € Z

Do =
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11. Given:f : Ry — Ry : f(x) = P

12.

(iii)Transitive:

If (a-b) and (b-c) are divisible by 2 then,

= a-c = (a-b)+(b-c) is also divisible by 2

This,(a,b) € R, (b,c) € R=(a,c) € R

Hence R is Transitive V (a, b) € Z

=> As Relation R is satisfying all the three parameters, hence R is an equivalence relation.

(c) mutually disjoint subsets
Explanation: An equivalence relation R gives a partitioning of the set A into mutually disjoint equivalence

classes,i.e. union of equivalence classes is the set A itself.

We have,
1
f@) =3
For, f(x4) = f(xy)
= 1 -1
1 T2

When, f(x4) = f(xy) then X1 = Xy
.". f(x) is one-one function.
fla)= 3

Let f(x) = y such thaty € R,
=y =
=T =

Q@ =8|~

Since y € Ry

= x will also € Ry, which means that every value of y is associated with some x.

.". f(x) is onto function.
Hence Proved.

Given that, A = [-1, 1]
let g(x1) = g(x2)

= [X1]= [X2]
=Xx1=t Xy

= X1=Xpand x1=-Xp _{e.g,g(-1)=|-1| =1and g(1)=|1| =1}

= g is not one-one.

1

OR

Section B

OR

We observe that (-1) does not have any pre-image in the domain since g(x) = | x| assumes only non-negative

values.

i.e. we cannot find any number in domain which will give (-1) in co-domain.

= g is not onto

Hence, g is neither one one nor onto.

Let cos 1 (—%) = x,wherex € (%,71‘)
= CcosT = —2—75

Now to find: tan [cos_1 (— e )] = tanx

25

As we know that 1 + tan® z = sec® z

= tanx = —4/sec’z — 1 asx € (%,7‘(‘)

1

=tanz = —/ —— —

= tanz = — (—%)2 -1
= tanz = —2—74
:>tan[cos_1 (—2—75)] = —2—74
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13.

14.

15.

16.

The value of cotgf is 1.

.". The question becomes cot™1(1).
Suppose,cot (1) =y

=coty=1

— Ty —

= cot(z) =1

The range of principal value of cot™1(1) is (0, 7)
and cot(%) =1

.. The value of cot‘l(cot%”) =z
Section C

PartI: R = {(Pq, P9): Py and P, have same number of sides}

i. Consider the element (P4, P1), it shows P and P; have same number of sides. Therefore, R is reflexive.
ii. If (P4, Py) € R then P4 and P, have same no.of pages .Then, P, and P have same no. of pages so (Py, P1) € R

.. Ris symmetric.
iii. If (P1, Py) € R and (Py, P3) € R then P and Py have same no. of pages and Py and P3 have same no. of pages

.This implies P; and P3 have same no. of pages and hence (P4, P3) € R ,therefore, R is transitive.

Therefore, R is an equivalent relation.
Part II: Since the relation considers only the number of sides, therefore, all the triangles are similar to the

given triangle.

Putting z = cos 26 so that § = %cos’lw

. _1 ./1+w7\/17:c
L.H.S. = tan (—\/H_wh/ﬁ)
_ tan_l (\/1+cos207\/1700520)

v/14c0s20++/1—cos 26
_ tan_l \/200529—\/2sin20
v/2c0s20++/2sin>0
. _1 ( V2cos6—+/2sin6 )
= tan ( V2 cos0++/2sin
Dividing every term by /2 cos#,

. —1 ( 1—tané
= tan ( 1+tan@ )

s
_ tanfl tan 7 —tané
14+tan ftan@

= tan’ltan(% —6) = -0
s 1

Y S § -1, __
=7 5 COS x = R.H.S.

To show that the given function is continuous at x = 0, we show that
(LHL)yx = 9 = RHL)x = ¢ = f(0) ....())
sin x
x

+cosz, x>0

Here, we have f(x) = { 2, z=0
4(1—+/1-2z) <0
Now, LHL = lim, ,o- f(z) = lim,_,o- w

4[17\/14041)]
0—h

= limp_0
) 4[1—/1+H)
= limp 0 -
— limy g LY 1V
- 1+v1+h

4[@)-(iTny?

= limy, o —— =
4[1—(1+h))

= lim o —h[1+V11h]
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17.

18.

. —hx4
= limp o

—h[1+V1+h]
= lim 4
h=0 Tk
—_4 _4_-
1+v1 2

and RHL = lim, o+ f(z) = lim, ¢+ (22 + cosz)
= RHL = lim o (%2 + cosh)

= limp o % + limp_9 cosh
=1+cos0
=1+1
=2
Also, given that x = 0, f(x) = 2 =f(0) = 2
Since, (LHL)x = ¢ = (RHL)x - o = f(0) = 2
Therefore, f(x) is continuous at x = 0.
OR
a) sin x is continuous in R
b) tan x is continuous at all real numbers except at odd integral multiples of pi/2
c) sec X is continuous at all real numbers except at odd integral multiples of pi/2
d) cosec x is continuous at all real numbers except at integral mulitiples of pi
Section D
Given that, A=R-{3},B=R-{1}.
f: A — Bisdefined by f(z) =
For injectivity
Let f(z1) = f(w2) = T = 2
= (X1-2)X2-3)=Xz-2)(xX1-3)
= X1X9-3X1-2Xp + 6 =X1Xp-3Xy-2X1 + 6

= -3X1 - 2Xp =-3Xy - 2X1

= -X1 =-X9 = X1 =Xy

So, f(x) is an injective function
For surjectivity

Lety = z—:i = X-2=Xxy-3y

:»x(l-y):2-3y:>m:21;?;’
=22 ¢ A, Vy € B[codomain]

So, f(x) is sur]ectlve function.
Hence, f(x) is a bijective function.

cos < + cos” 1y = [ 1z 4 cos7ly =cos! (my—\/l—w2,/1—y2)}

cos {%% 4 /1 ,/1—?}—04
ry .
— 1—— 1-—- —2 coso

T I
2 COoSax =
ab

Squaring both sides,

$2y2 m
+ cos?a—2- .cosa= (1— =

b
2

2
z’y?
=7 + cos’a — 2 cosa— 1 b2 i
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2 2

zZ Y 9%y —1_ 2
112+b2 2abcosa—1 cos“ o
9 2

z Yy Ty )
ol 2 cosa = sin“a

OR
Let %cos_lg =40
_ s T _
LHS —tan(4 + 0) + tan(4 0)
_ 1l+4tanéd 1—tané
" 1—tané 1+tané
(1+tanf)’+(1—tan)’
1—tan?6
2-+2tan%6
1—tan?6

—9 1+tan%6
o 1—tan26

1 a
rcos T— =20
2 b
" cos26 a
cos20 = —
b
— 2
D
_ 2
T a

717



Solution
Class 12 - Chemistry
Descriptive Type Test-1 (2020-21)

Section A

1. (d) mollitre s
Explanation: unit of rate constant for nth order of reaction are:
unit of k for nth order = (molL1)1 1 571
put n=2 for second order reaction.

2. (d) independent of initial concentration of reactions

Explanation: independent of initial concentration of reactions.
4 — 0693
Ly k
3. (a)4years
Explanation: Radioactivity follow 1st order kinetics.

_ 2303 a
k= = log —

k=0.1919 log 8
k =0.1919 x log 23

k=0.1919 X3 X log2=0.575 x 0.3010 = 0.173yr'1

now,
b — 0693 _
Ly, = 0173 —

4. (b) Associated colloids
Explanation: Micelles are chemical structures formed with both hydrophilic (they’ll mix into water) and
hydrophobic (they don’t mix into water). Also called as Associated colloids. In the general case, micelles are
formed when there is an ideal temperature in the medium (called the Kraft temperature) and a certain

concentration of electrolytes (called the CMC: Critical Micelle Concentration) in the medium.
{ Oil 1l

4.005yrs ~ 4yrs

Grease
Cloth
N\

0 . (ii)
i. Grease or oil on surface of cloth.
ii. Stearate ions arranged around the grease or oil droplet.
iii. Grease or oil droplet surrounded by stearate ions (ionic micelle formed).

5. (c) Mechanical
Explanation: Movement is always a mechanical property.

Section B

6. Second order, because unit is L mol™! s~ 1.

7.Y = 2X.
R
8. For a first order reaction, the equationis: k = @log %
A constant value of k justify's the first order of the reaction.

9. a. Lyophobic sol : Gold, platinum.

b. Lyophilic sol : gum, gelatin, starch, proteins with suitable dispersion medium.
10. Freundlich adsorption isotherm equation can be written as below:
1
— = kP or log[%] =log k+ %logP
11. i. If order = Zero
_ 44 _ 0 _
Rate = _T = k[A] =k
integrating both sides, we get

[A] =-kt+T1..(31)
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12.

13.

14.

15.

16.

17.

18.

where, I is a constant of integration
Att=0,[A] =[Alg

L [Ao=1

Substituting this value of 1 in eq. (i)
[A] = -kt + [Alg

k= 14) - 4]
ii. When the reaction is complete
[A]=0

sk=21Algort = %

For a first order reaction,
_ 230371, B
t1 = =5 log A

_ 2303 100 _ 2303, 10 _ 3 . 1
k= 25198 T50-30 = 20 108 7 = 8.918 X 10" “min

Therefore, ¢1 /50f the decomposition reaction is
4o, — 0693 _ _ 0693
1/2 k 8.918x10 %
=77.7 min (approximately)
The extent of adsorption increases with increase of surface area of the adsorbent. Finely divided and porous
substance having large surface areas are good adsorbents.
During adsorption, there is always a decrease in residual forces of the surface. Therefore, the surface energy
decreases which appears as heat. Therefore, adsorption is exothermic process.

£99.9% — 23%16g (Rl
K (1R S3 1R))

2:303151000
6.909
K
¢ _0.693
/2= "k
199.9% _ 6.909 K _
ty, K x 0.693_10
Order

i. It is sum of powers to which concentration terms are raised in rate law or rate equation.
ii. It is determined experimentally.
iii. It can be zero or even in fraction
iv. The order of complex reaction can be determined and slowest step is rate determining step.
Molecularity
1. It is the number of molecules taking part in the reaction.
ii. It is determined theoretically
iii. It is always in whole number
iv. Molecularity of each step is determined separately.

Physisorption Chemisorption

(1) Specificity It is not very specific. It is highly specific in nature.

(ii) Temperature |It usually takes place at low temperature and decreases |It takes place at high

dependence with increasing temperature. temperature.
(iii) Reversibility  |It is reversible. It is irreversible.
(iv) Enthalpy High enthalpy of adsorption

Low enthalpy of adsorption (20-40 k] mol1).

change (80-240 k] mol™h).

i. When a beam of light is passed through a colloidal solution, then scattering of light is observed. This is
known as the Tyndall effect. This scattering of light illuminates the path of the beam in the colloidal
solution.

ii. When NacCl is added to ferric oxide sol, it dissociates to give Na* and Cl" ions. Particles of ferric oxide sol

are positively charged. Thus, they get coagulated in the presence of negatively charged Cl ions.
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19.

iii.

a.

i

The colloidal particles are charged and carry either a positive or negative charge. The dispersion medium
carries an equal and opposite charge. This makes the whole system neutral. Under the influence of an
electric current, the colloidal particles move towards the oppositely charged electrode. When they come in
contact with the electrode, they lose their charge and coagulate.
Let ¢ 1 = halflife = 360 min, kq = rate constant
ky :2 0.693 _ _0.693

i 360 min

2

=1.92 x 10 *min"!
)

2.303R

k2
log k T

where kj = rate constant at temperature T,(450°C = 450+273 K = 723 K), kq = rate constant at temperature

T1(380°C = 380+273 K = 653 K), E, = Activation energy = 200 k]J/mol, R = 8.314 J/molK

ks 200000 723—653
log k1~ 19.147 723653

= 1.5487
» - antilog 1.5487 = 35.38
ky = ky x 35.38

=1.92 x 103 x 35.38
= 6.792 x 10 ?min !
2303 [Ro] _ 2.303 [Ro]
t= T log m =k og EXpw
where [R,]=Initial reactant concentration, [R]=reactant concentration at time t after 75% decomposition

t =20.415 min

. Let us consider the following rate equation

Rate = [AJ*[B]Y where [A] and [B] are reactant concentrations, x and y are orders of reaction w.r.t. A and B
respectively

From experiment 3

1x 1072 = k(0.5)"(0.1)...(3)

From experiment 4

1.0 x 1072 = k(0.5)“(0.5)"... (i1)

Dividing (i) by (ii) we get

1x1072 1 _ 0
X102 % =2

y=0
From experiment 1
4.0 x 1074 = k(0.1)%(0.1)"... (i4i)
From experiment 3
1.0 x 1072 = k(0.5)%(0.1)"... (iv)
Dividing (iii) by (iv)
%= %
= 5" = 5°
X=2
Order w.r.tAis2and BisO0
rate = k[A]*[B]° where k = rate constant
4.0 x 107* = k(0.1)” (from experiment 1)
kE=4.0x10"2Lmol 's7!
iii. When [A]=0.2 M, [B]=0.35 M
Rate = k(0.2)%(0.35)°
=4.0x 1072 x (0.2)
=1.6x 10"*mol L1571
OR
First order because the formula for first order is In[R] = -kt + In[R,] ; y = mx + ¢ slope = -k
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ii. time1(s ™
iii, k = 2893
t1/2
iv. Rate constant k of reactions

V.

<

IRl
%9 R)

—®  time (sec
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(c) Several generations

Solution

Class 12 - Biology

12 - Biology

Section A

Explanation: Pedigree analysis is the study of particular traits in several generations of a family. In this
analysis, the inheritance of a particular trait is represented in a family tree over the generation.

(a) An increase in whole set of chromosome in organism.
Explanation: Cytokinesis is the division of the chromosome. Failure of cytokinesis after telophase stage of
cell division results in the increase in the whole set of chromosomes in an organism that leads to

polyploidy.

(d) Segregation in the expected 9:3:3:1 ratio
Explanation: Two genes located very close on the chromosomal linkage map. Segregation of R and Y will
not take place due to linkage and passes to the same gamete together but overall segregation can be

expected as usual as dihybrid cross, 9:3:3:1.

(b) Terminal flower position

Explanation:
Trait Dominant Expression Recessive Expression
Form of ripe seed (R) Smooth Wrinkled
Color of seed albumen (Y) Yellow Green
Color of flower (P) Purple White
Form of ripe pods (I) Inflated Constricted
Color of unripe pods (G) Green Yellow
Position of flowers (A) Axial Terminal
Length of the stem (T) Tall Dwarf
(a) Birds

Explanation: In birds, male contain a pair of Z chromosomes as sex chromosomes besides autosomes
while females contain one Z and one W chromosome.

(d) Grasshopper
Explanation: In grasshopper, sex determination is of XO type, in which the males have only one X-
chromosome besides the autosomes whereas females have a pair of X-chromosome.

Section B

7. (1) XY (ii) XO (iii) ZW (iv) XX
8. A baby's genetic sex is determined at the time of conception. When the baby is conceived, a chromosome

9.

10.

11.

from the sperm cell, either X or Y, fuses with the X chromosome in the egg cell, determining whether the baby
will be genetically female (XX) or male (XY).

Incomplete dominance is a form of intermediate inheritance in which one allele for a specific trait is not
completely expressed over its paired allele.

A cross of two F1 hybrids, heterozygous for a single trait that displays incomplete dominance is predicted to
give a 1:2:1 ratio among both the genotypes and phenotypes of the offspring

A mutagen is a physical or chemical agent that changes the genetic material, usually DNA, of an organism and
thus increases the frequency of mutations above the natural background level. Example: X-rays.

A man of A-blood group marries a woman of AB blood group then the progeny of B Blood group can indicate
the man is heterozygous.

If the male parent is homozygous for A Blood group, then only possibility of progeny will be showing either A
blood group or AB blood group. If the the male parent is heterozygous for A blood group then the possibility
of progeny will be showing A blood group,AB blood group or B blood group.
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12.

13.

14.

15.

16.

Thus, the distiction would be made only on the basis of progeny showing B Blood group

Section C
Multiple allelism is the phenomenon of presence of more than two alternate forms/alleles of a gene present
on the same locus on the homologous chromosomes. However, an individual carries only two alleles out of

many alleles e.g., in human being the blood groups A, B, O are determined by three alleles- I, IB, 19 or i.
Pleiotropy is the ability of a gene to have multiple phenotypic effects because it influences a number of
characters simultaneously e.g., sickle-cell anaemia (Hbs). The replacement of glutamic acid by valine in a
beta-globin chain of haemoglobin is a major effect while the RBCs become sickle-shaped elongated cells
under low oxygen tension is the secondary effect; in Pea, a single gene B, product; may produce more than
one effect-shape of seed and size of starch grains.

Mendelian disorder Chromosomal disorder

This disorder is mainly due to alteration |This disorder is caused due to absence or excess or abnormal
or mutation in a single gene. arrangement of one or more chromosomes.

This follows Mendel's principles of

. ) This does not follow Mendel's principles of inheritance.
inheritance.

This may be recessive or dominant in

This always dominant in nature.
nature.

For example, hemophilia, sickle-cell

) For example, Turner's syndrome.
anaemia.

Four symptoms of Down's syndrome are:
(a) feeble minded
(b) retarded growth
(c) rounded face and broad forehead
(d) permanently open mouth.
It is an autosomal aneuploidy or 21 trisomy. In this case the egg possesses 24 chromosome instead of 23 and
the offspring has 47 chromosomes. (45 + XY in male, 445 + XX in female) instead of 46.
Section D

a. By test Cross, it can be figured out whether a given tall garden pea plant is homozygous or heterozygous.
In a typical test cross, an organism showing a dominant phenotype (and whose genotype is to be
determined) is crossed with the recessive parent. The progenies of such a cross can easily be analyzed to
predict the genotype of the test organism. Following punnet squares show the results of a typical test cross
where the tall plant (T) is dominant over dwarf (t).

1 | Homozygous Homozygous 1t
Dwarf recessive recessive Dwarf
i it
{ 1 Unkown Genotype ; 1
? Tt T
?-n 73 ) @ T | T
TT g Tall —p Tt
T T Dominant Phenot; & &
Tl | Tall ype O dwarf | dwarf
All Plants are tall [100% tall] Hal o the Plaats ee tall and 1 - 1]

Half of the Plants are dwarf

Unknown Plants archomozygous @ Unknown Plants are heterozygous

b. i) Incomplete dominance
ii) Dominance

Klinefelter syndrome Turner syndrome

It is due to trisomy (2n+1) of sex chromosome.
It is due to monosomy (2n-1).

Genetic Sex:
XXY; generally female because of the presence of
two X chromosomes. XO; genetically sexless.

The individual has 47 The individual has 45 chromosomes. (44+X).
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Chromosomes(44+XXY).

Gonadal sex:
Testes present, but atrophied, gonadally male,
presence of testis is due to Y chromosome.

No ovary; no testes; no gonadal sex.

Phenotype

male, outward appearance male; penis, vas
deferens, seminal vesicles present, but small sized,
no spermatogenesis; sterility present.

Phenotype female, outward appearance; female;
vulva, vagina and uterus present, but breasts do not
develop owing to the absence of estrogens; no
menstruation; sterility present.

Clinical symptoms:
Male with slowly degenerating testes, enlarged
breasts.

Short stature, webbed neck, female with poorly
developed breasts and degenerated ovaries and
rudimentary sexual characteristics.
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10.

11.

12.

13.

14.

15.

16.

Solution

Class 12 - f§& &R
Online Descriptive Type Test - 1(2020-21)

Section A

(a) ffsaT & s8m

Explanation: -

(c) T 3R e faar &Y W= RfdenR ik Rdw gid €1
Explanation: &faar 3R 55 e g g1d §1 & wrareit # 98 9ot 9 &

(d) TE 1T T TEY e J ST
Explanation: %R AR™U & HIHR hfAdT T I Tl I T Tel Tee I ST 8| 8! i Y 7= |

(b) S5 310 3R WA F A gl H3
Explanation: %9 fsma gid €1 3 o7 9ig & gX eR 1 70T 71 &

(b) 3 &t
Explanation: &fadr '&fadr & g8 &fa R ARmor A "37 R swfaar dug F ot wh g

(c) g

Explanation: &R YR 3 4HGT Uk T TUTGH fohaT 2T

(c) Sfisft

Explanation: efdR YRt & gRT IRa dret A1 U & 7 Iudh & o Sfist w1 8|

(a) Ry ik RTm & £
Explanation: &Tet 397 O & W91 H R 9ReR = gy ofk fagm & ot four farar mar 21

(a) T TaH
Explanation: g9dR YRl 37310 gRT TUTfed §ER Gadeh & hfd I

(d) &1 AT @ TATET T adr gl
Explanation: ¢dR YR & ST g1 3R TAT61 T Sadl a1 &R fOhed &+ gebl 81
Section B
Hfd H FHldaF s a1 9idsy & IR & TWg 81 I sMRihT & fh sftenviieror & wRoT AgsT Fif3ch giaT 7 1 &1 39 o=
TS S<h 3 AT G 1G9 g1 ¢ | Wid ht Sieft T ¥ AMa ohl dhiFe 9G-S TAT gl STT 38! & | a8 AfiF ST ST eT g,
AT AT TG TSI 1 a<h &1 S9h U ol 5, AT - W4 ! WAd R forar & STafcs wfaar & g qer g &Y smasgedr gidt 8
31d: B &l wfdar 1 sifia @R & REr 2 w181
o0 el A SO D, SOA-ORET T Ae et S &1 3 Ueh ST7Tg & g TTg T R 2led B B, S 6 & dep-dlen oY
forct 78t <t &, Uep 18 @ gt ST Sied g3 Toft H S1ue b1 9Ta I+ shd & St UehR ahfaar oft ereal 1 @t 8, 3Rt &
U giaT &1 wfd ol fhdt o1 9 ) IgaT| IThT heTd ot fhT geF F 1T 78] ST Yendl, I8 el , 9Tdl, IRl & 7u-0 @«
AT &1 I8 37U SheA® J S SffAeafch ST AT § ST g | 31d: I ohfddl hid a<h 3TTA-TRIE T [ T A Srar 8+
YA eAleh fgd & o faar foraeit anfau
ST &F 991 911 €Y 3 W& 8, &9 6 ft ISi-a<! &, fohg cafehia &0 3 g7 A & oy g ot 76 aved &1 e 2w & vl gar
FHdc Y I1g AT @I 81
gk Heh Hee! IR UM ST 2 A & Fifch 30 TG U ah WY et 81 ol 3 S fSaar & diR & forg a1t oR urt 3o
I T g1 IY 3T Hach Healt R theh T U chl TR IR &1 3T ST T JHTST &Y &ifd gl &1 9 urt Y 39 Re e & R
Sfayr &Y S T8l AT
Hoh AUSH I Ak T dlcqd Tiid & I JTeIh] hY Sleft A & S QR 1119 R H GH-g7 S g A1Td & ofR il gRT et 71q urit
s A dic-Ulc HR T8I &1 A 39 Uy & g ar, 39 R« 9 g Ut & g9ia o
HTet AUT IR & Uop arefen TER0T 21 309 eikaeh A ik vraiferd Ry ofk e & £ o1 e fomur [ 81 e a1 sroem adh
BiaT & iR fAayry T S7ueT AT | ARk ST dch S SR R T9 $S g T A& & Tgi are! o [y & I ag AR g
STar gl
OR
TST g1 99 9T &Y i B & foh 1 & YEmR dodT &) o1 |1 81 g0 At t S-S 8, fohg aafoa ®u Y gm0 2w & foig 5 oft
EREECE

Section C
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17.

18.

19.

20.

TSUT! 31T 3R TS o 0T sl dhgd &1 T8T IR TSI I Ie0d 1<) Tt § ¢ 1 gHR 3refezreen Y W smemRa 8, ok iy auf
R R gklt 8, oreedt anh & et of areedt givht guforg urht & Ty e Y T Y S < &1 wE TeuEt uhear ofk GRigrelt @
udier oft 81

OR
Tgen Y Sitell eiaeh ¥ ST Y wnfifer s g SmateT sharn off {98 W stufasyr AmdT of g Srot Sfisht I srmmer 09
B & HRUT a8 Tt w1t o o1 foh et ach S O R T AT T8 adh foh a= I WR U 7 Thep A a1t 3Tk 31U dch STISfl o ddhl oh
3T §R S & 39 T HROT Y STISi § ITRT WIG-TcHe o1 Td AT| Ich Ui 3MTER, TR 3R UF T {IaHT & hRUT e ! faasr
Bien? Sfish &Y 91 A €Y ued) 21 ord: &1 o Tehd & fh Real o gart sremr-21fh &1 e St Ry & Sivet # g &Y g
@it AR i T ARK T HASR Hdl & 3R g7 fdasr gt s &)
R af€T war & smeyfae TRaRe geal & RAged &1 guiRe =0 &1 geier & uRaR & 396 dc, 3¢ g ueit §1 3 aft
amyfes ARl & Trade &1 32 aeMeR & el T Jou UHifich oI ST &1 ST 9T N1 Ueh W3dc -l H STesT da- urdT g1
TIRT 9T 3MTE0ToTHo T JAR 3 3T & | AIERT 9T BHgRT eieh? SaRenT Tl It 7ot Toff § et T areel} § 1 Uit 3o R
HE & T ufd & OEeR g 81 g8 i) fie-acht & Ry et 81 2 +ifde St & Sfiaw o1 sifow g ama &1 3 i
&R Dt e & AT S T T Terg A7 h TR+t 78T T | TI aR TRMER T IHATAT hiaH, RdGR & Alg, rewigof
Sita, ke Sfia i et # iy wad €1 &g S8 3 T &Y wfd 9 &) §591 s g4 R 3 €1 39 99 Rl § uRaR 38 i
Jaselt gl &dTl 39 UhR URaR H d-1d giaT g | UIRaTRer Hed faufed gid Sird g1
MR I19 fh T 1 TR-GR I1E Hd &1 T A fhermar & g A gsm g1 o fohermar ol ufdwerr 81 aemer 8id 39 7 &t
feeft 3 Ty & fh e & 3% R SIRRT T SenT 3nfYe Heg e AU e A WA & T GgRT 99 aur Aiend R gmer 91
IchY B STl ST SThUT hd | SHifthd, TET, 1T Hhgh &I, ReraAe & F1G 7ifg ST o1 Tt R foh arer a1 o 81
gl deh foh 31ch Tt fehaTeremTdl & foh 21T T 81 TTa WE U I uRdAferd giar g1
g IehT T g gl ST FRilfeh I fawe oRfEfaat & oft srom smgef ot 8T oerat 8k 37 gRT IR 1Y A R Ferd §; SraNE
3T O I 3k Bl A ToIRAT U, il b1 1 G+l ISl Ud IRaR & T 3iffthe & @il & Have gal
FLMeR 1Y SHIhT 919 &1 3 GRANST Tg GG el hAT AR & foh 920 I g 1 TR T AR AH | 37a: T2l bl 37T 30T
HTH B3 Y G TSI 2| AMeR I ot T off A & foh o7 STl Y Y BEl ST TH &, AR S T ST SIoRT A<
BT &1 3ra: 3 Rtk 3T R AR & fobh S0l ot 5 oft 3, I YR SRR of | SH TRG 89 T§ g Wehd & o d W IR o gRyoTaedt
¥, gl &) T Sfia= S &d A
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Solution
Class 12 - Physical Education
Descriptive

Section A

1. (d) Probiotics
Explanation: Probiotics

2. (b) Whole grain food
Explanation: Whole grain food

3. (b) They help carry out metabolic reactions
Explanation: They help carry out metabolic reactions

4. (@) According to the needs of the person
Explanation: According to the needs of the person

5. (d) Sthira Sukham Asanam
Explanation: Sthira Sukham Asanam

6. (@) Vajrasana
Explanation: This asana Enhances blood circulation in the lower abdomen, thus improves digestion.

7.  (d) Speed
Explanation: Speed

8. (c) Oppositional defiant disorder
Explanation: Oppositional defiant disorder

9. (d)OCD
Explanation: OCD

10.  (d) Disability
Explanation: Disability
Section B
11. reduce calorie contant, reduce fatty and fried food,etc
12. Tolerance is takinng food excessive and allergy is fatal.
13. accumulation of body fat.help in digestion, reduce belly fat etc.
14. The symptoms of ADHD in children are as follows:

a. They usually forget about daily activities.

b. They feel problem in organizing daily activities.

c. They are easily distracted.

d. They usually bounce when sitting.

e. They become restless.

f. They have problems in playing quietly.

g. They usually talk excessively.
15. 111

Section C

16. 111
17. 111
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